
 

 

Answer on the question #68181, Chemistry / General Chemistry 
 
Question: 
If 72.4 kJ of heat is supplied to a 812 g block of metal, the temperature of the metal increases 
by 8.8°C. Calculate the specific heat capacity of the metal in J/g·°C.  
 
Solution: 
Heat and specific heat capacity are linked with the following equation: 
 

𝑄 = 𝑐𝑚∆𝑇 = 𝑐𝑚(𝑇2 − 𝑇1), 
 
where 𝑄 is the heat supplied to the system, 𝑐 is the specific heat capacity of the system, 𝑚 is 
its mass and ∆𝑇 is the change in temperature of the system. 
Deriving specific heat capacity: 
 

𝑐 =
𝑄

𝑚∆𝑇
=

72.4(𝑘𝐽)

812 (𝑔) · 8.8(°𝐶)
= 10.13 (𝐽/(𝑔 · °𝐶)) 

 
Answer: 10.13 J/(g·°C) 
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